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THE WORLO-OF-ETYDS , .
(a) Explain why it is possible to design an inde-

pendent Lexical analyzer ? .

(b) Define and differentiate between compile ime

a errors and runtime errors.
(¢) Explain the machine dependent and machine

independent code optimization.
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(h)  Differentiate between Syntax directed defini-

: r-.-'!'

(c)  Test whether the following gramma]: 15
LL(1)? Y itmt W
S — aAb R

5 A = cd|ef 2
; (d)  Explain the concept of bootstrapping incom- |
Q piler design process. I
%
g 2.5x4 q
lu ¥
= 3. (a) Use T-diagram to describe the steps you would :

take to create a powerful compiler using a

quick-dirty compiler. 2

(b)  Define and discuss the objectives of SDTS.

What do you mean by underlying source gram-
mar. Explain with an example. 4 |

(¢) Construct the DAG for the following statement

L=X-Y+XXY XU VWX S Vi _



\ Describe the contents of a symbol table. How
: Wﬁd ble involved in the mteractions
hw the different components of the
# mm]dinﬂmrdclﬁunn Tave asimple
~ exampleineach case. 5
3 el ﬂunm:hlm dependent and machine
ent code optimization. What are their
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P fﬁ #ﬁnnn for the input string id -id,/
’lﬂ;-"ld 7id,- id, with the reference to the
operator precedence relation table given
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(b)

(i)

What information is recorded in the Symbol \
Table of a compiler for a block structured -

language 7 Give examples of how this infor- .l
mation 1s created and/or used at each stage of

compilation. b S

Construct an LL(1) parsing Table for the

following grammar 3
S — aBDh

B —=ycC

CobCle
D — EF ~.-
Egl€E
F—f|e

Explain how scope rules and the block strue-
ture of a programming language decides the

structure of symbol table. 2«

Construct the SLR parsing table for the

following grammar 8
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de e¢ jg:mtmn phase ? 2

(a) *‘ﬁﬁmf ﬁ'ﬁ. the objective of intermediate code

1I|

1}:‘ eneration ? Generator three address code for

L he following code segment. 4

main()

{

inta=1;

int b[10];

while (a <= 10)

b[a] = 2 **a;
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Find the canonical collection of sets of L

S — AaAb
A — BbBa
A= E
HEEINE _
Write quadruples, triples and fn&'irwr
for the following expression 5
x[i] :=y
= v[i]

THE WORLD OF STUDY . . .




